# NOTES ON TWO KINDS OF SPECIAL VALUES FOR THE BELL POLYNOMIALS OF THE SECOND KIND 

Feng Qi, Dongkyu Lim, Yong-Hong Yao

## To cite this version:

Feng Qi, Dongkyu Lim, Yong-Hong Yao. NOTES ON TWO KINDS OF SPECIAL VALUES FOR THE BELL POLYNOMIALS OF THE SECOND KIND. 2018. hal-01757740v1

## HAL Id: hal-01757740 <br> https://hal.science/hal-01757740v1

Preprint submitted on 3 Apr 2018 (v1), last revised 18 Jan 2020 (v2)

HAL is a multi-disciplinary open access archive for the deposit and dissemination of scientific research documents, whether they are published or not. The documents may come from teaching and research institutions in France or abroad, or from public or private research centers.

L'archive ouverte pluridisciplinaire HAL, est destinée au dépôt et à la diffusion de documents scientifiques de niveau recherche, publiés ou non, émanant des établissements d'enseignement et de recherche français ou étrangers, des laboratoires publics ou privés.

# NOTES ON TWO KINDS OF SPECIAL VALUES FOR THE BELL POLYNOMIALS OF THE SECOND KIND 

FENG QI, DONGKYU LIM, AND YONG-HONG YAO


#### Abstract

In the paper, by methods and techniques in combinatorial analysis, the authors discuss two kinds of special values for the Bell polynomials of the second kind for two special sequences, find a relation between these two kinds of special values for the Bell polynomials of the second kind, and derive an identity involving the combinatorial numbers.


## 1. Motivation

In [1) Definition 11.2] and [2, p. 134, Theorem A], the Bell polynomials of the second kind, denoted by $\mathrm{B}_{n, k}\left(x_{1}, x_{2}, \ldots, x_{n-k+1}\right)$ for $n \geq k \geq 0$, are defined by

$$
\mathrm{B}_{n, k}\left(x_{1}, x_{2}, \ldots, x_{n-k+1}\right)=\sum_{\substack{1 \leq i \leq n, \ell_{i} \in\{0\} \cup \mathbb{N} \\ \sum_{i}^{n}=1 \\ \sum_{i=1}^{n} \ell_{i}=n}} \frac{n!}{\prod_{i=k}^{n-k+1} \ell_{i}!} \prod_{i=1}^{n-k+1}\left(\frac{x_{i}}{i!}\right)^{\ell_{i}} .
$$

For more information on the Bell polynomials of the second kind $\mathrm{B}_{n, k}$, please refer to the monographs and handbooks [1, 2, 3] and closely related references therin.

In [1. p. 451], the formulas

$$
\begin{aligned}
\mathrm{B}_{2 r, k}(0,2!, \ldots, 0,(2 r)!) & =\frac{(2 r)!}{k!}\binom{r-1}{k-1}, \\
\mathrm{~B}_{2 r-1, k}(0,2!, \ldots,(2 r-2)!, 0) & =0 \\
\mathrm{~B}_{2 r, 2 s}(1!, 0, \ldots,(2 r-1)!, 0) & =\frac{(2 r)!}{(2 s)!}\binom{r+s-1}{2 s-1}, \\
\mathrm{~B}_{2 r, 2 s-1}(1!, 0, \ldots,(2 r-1)!, 0) & =0 \\
\mathrm{~B}_{2 r-1,2 s-1}(1!, 0, \ldots,(2 r-1)!, 0) & =\frac{(2 r-1)!}{(2 s-1)!}\binom{r+s-2}{2 s-2}, \\
\mathrm{~B}_{2 r-1,2 s}(1!, 0, \ldots, 0,(2 r-1)!) & =0
\end{aligned}
$$

were stated, but no proof was supplied for them there.
For simplicity, we denote

$$
\lambda(n, k)=\mathrm{B}_{n, k}\left(1!, 0,3!, 0, \ldots,(n-k+1)!\frac{1-(-1)^{n-k+1}}{2}\right)
$$

and

$$
\mu(n, k)=\mathrm{B}_{n, k}\left(0,2!, 0,4!, \ldots,(n-k+1)!\frac{1+(-1)^{n-k+1}}{2}\right)
$$

2010 Mathematics Subject Classification. Primary ; Secondary .
Key words and phrases. special value; Bell polynomial of the second kind; factorial; relation; Faà di Bruno formula, identity; beta function; combinatorial analysis; Vandermonde convolution formula.
This paper was typeset using $\mathcal{A}_{\mathcal{M}} \mathcal{S}^{-\mathrm{LA}} \mathrm{T}_{\mathrm{EX}}$.

In terms of these notations, the above statements in [1, p. 451] can be restated as

$$
\begin{array}{rlrl}
\mu(2 r, k) & =\frac{(2 r)!}{k!}\binom{r-1}{k-1}, & \mu(2 r-1, k)=0, \\
\lambda(2 r, 2 s) & =\frac{(2 r)!}{(2 s)!}\binom{r+s-1}{2 s-1}, & \lambda(2 r, 2 s-1)=0, \\
\lambda(2 r-1,2 s-1) & =\frac{(2 r-1)!\left(\begin{array}{c}
r+s-2 \\
2 s-1)! \\
2 s-2
\end{array}\right),}{\lambda(2 r-1,2 s}=0 .
\end{array}
$$

In this paper, we will provide alternative proofs for the above six formulas and discover a relation between them.

## 2. Main Reults

We first prove an identity involving combinatorial numbers.
Theorem 1. For $k \geq 1$ and $n \geq 0$, we have

$$
\begin{equation*}
\sum_{q=0}^{n} \frac{(-1)^{q}}{k+q}\binom{n}{q}=\frac{1}{k\binom{k+n}{k}} \tag{1}
\end{equation*}
$$

Proof. Let

$$
f(x)=\sum_{q=0}^{n} \frac{(-1)^{q}}{k+q}\binom{n}{q} x^{k+q}, \quad x \in[-1,1] .
$$

Then $f(0)=0$ and

$$
f^{\prime}(x)=\sum_{q=0}^{n}(-1)^{q}\binom{n}{q} x^{k+q-1}=x^{k-1} \sum_{q=0}^{n}(-1)^{q}\binom{n}{q} x^{q}=x^{k-1}(1-x)^{n}
$$

Integrating from 0 to $t \in(0,1]$ on both sides of the above equality yields

$$
f(t)=\int_{0}^{t} x^{k-1}(1-x)^{n} \mathrm{~d} x=B(t ; k, n+1)
$$

where $B(z ; a, b)$ denotes the incomplete beta function, see [3, p. 183]. Therefore, we obtain

$$
\begin{gathered}
f(1)=B(1 ; k, n+1)=B(k, n+1) \\
=\frac{\Gamma(k) \Gamma(n+1)}{\Gamma(k+n+1)}=\frac{(k-1)!n!}{(k+n)!}=\frac{1}{k} \frac{k!n!}{(k+n)!}=\frac{1}{k\binom{n+k}{k}},
\end{gathered}
$$

where $B(a, b)$ and $\Gamma(z)$ denote the beta function and the classical Euler gamma function respectively, see [3, p. 142] and [3, Chapter 5]. The formula (1) is thus proved. The proof of Theorem 1 is complete.

We are now in a position to state and prove our main results.
Theorem 2. For $n \geq k \geq 0$, we have the relation

$$
\begin{equation*}
\frac{\lambda(n, k)}{n!}=\frac{\mu(n+k, k)}{(n+k)!} \tag{2}
\end{equation*}
$$

and two explicit formulas

$$
\begin{equation*}
\lambda(n, k)=\frac{1+(-1)^{n+k}}{2} \frac{n!}{k!}\binom{\frac{n+k}{2}-1}{k-1}, \quad \mu(n, k)=\frac{1+(-1)^{n}}{2} \frac{n!}{k!}\binom{\frac{n}{2}-1}{k-1} \tag{3}
\end{equation*}
$$

Proof. It is known [2, 16] that the quantities

$$
\langle x\rangle_{n}=\prod_{\ell=0}^{n-1}(x-\ell)= \begin{cases}x(x-1) \cdots(x-n+1), & n \geq 1 \\ 1, & n=0\end{cases}
$$

and

$$
(x)_{n}=\prod_{\ell=0}^{n-1}(x+\ell)= \begin{cases}x(x+1) \cdots(x+n-1), & n \geq 1 \\ 1, & n=0\end{cases}
$$

are called the falling and rising factorials respectively. In [2, p. 133], it was listed that

$$
\begin{equation*}
\frac{1}{k!}\left(\sum_{m=1}^{\infty} x_{m} \frac{t^{m}}{m!}\right)^{k}=\sum_{n=k}^{\infty} \mathrm{B}_{n, k}\left(x_{1}, x_{2}, \ldots, x_{n-k+1}\right) \frac{t^{n}}{n!} \tag{4}
\end{equation*}
$$

for $k \geq 0$. Hence, we have

$$
\sum_{n=k}^{\infty} \mu(n, k) \frac{t^{n}}{n!}=\frac{1}{k!}\left[\sum_{m=1}^{\infty} m!\frac{1+(-1)^{m}}{2} \frac{t^{m}}{m!}\right]^{k}=\frac{1}{k!}\left(\frac{t^{2}}{1-t^{2}}\right)^{k}
$$

which is equivalent to

$$
\sum_{n=0}^{\infty} \mu(n+k, k) \frac{1}{\binom{n+k}{n}} \frac{t^{n}}{n!}=\left(\frac{t}{1-t^{2}}\right)^{k}
$$

Since the function $\frac{t}{1-t^{2}}$ is odd, we derive $\mu(2 r-1, k)=0$. Further computation yields

$$
\begin{gathered}
\mu(n+k, k)=\binom{n+k}{n} \lim _{t \rightarrow 0} \frac{\mathrm{~d}^{n}}{\mathrm{~d} t^{n}}\left(\frac{t}{1-t^{2}}\right)^{k} \\
=\binom{n+k}{n} \frac{1}{2^{k}} \lim _{t \rightarrow 0}\left[\left(\frac{1}{1-t}-\frac{1}{1+t}\right)^{k}\right]^{(n)} \\
=\binom{n+k}{n} \frac{1}{2^{k}} \lim _{t \rightarrow 0}\left[\sum_{\ell=0}^{k}\binom{k}{\ell}\left(\frac{1}{1-t}\right)^{\ell}(-1)^{k-\ell}\left(\frac{1}{1+t}\right)^{k-\ell}\right]^{(n)} \\
=\binom{n+k}{n} \frac{1}{2^{k}} \sum_{\ell=0}^{k}(-1)^{k-\ell}\binom{k}{\ell} \lim _{t \rightarrow 0} \sum_{q=0}^{n}\binom{n}{q}\left[\left(\frac{1}{1-t}\right)^{\ell}\right]^{(q)}\left[\left(\frac{1}{1+t}\right)^{k-\ell}\right]^{(n-q)} \\
=\binom{n+k}{n} \frac{1}{2^{k}} \sum_{\ell=0}^{k}(-1)^{k-\ell}\binom{k}{\ell} \lim _{t \rightarrow 0} \sum_{q=0}^{n}\binom{n}{q} \\
\times\left\langle\langle-\ell\rangle_{q}(-1)^{q}\left(\frac{1}{1-t}\right)^{\ell+q}\langle-(k-\ell)\rangle_{n-q}\left(\frac{1}{1+t}\right)^{k-\ell+(n-q)}\right. \\
=\frac{(-1)^{k}}{2^{k}}\binom{n+k}{n} \sum_{\ell=0}^{k}(-1)^{\ell}\binom{k}{\ell} \sum_{q=0}^{n}(-1)^{q}\binom{n}{q}\langle-\ell\rangle_{q}\langle\ell-k\rangle_{n-q} \\
=\frac{(-1)^{n+k}}{2^{k}}\binom{n+k}{n} \sum_{\ell=0}^{k}(-1)^{\ell}\binom{k}{\ell} \sum_{q=0}^{n}(-1)^{q}\binom{n}{q}(\ell)_{q}(k-\ell)_{n-q} .
\end{gathered}
$$

In summary, we obtain

$$
\mu(n, k)=\frac{(-1)^{k}}{2^{k}}\binom{n}{k} \sum_{\ell=0}^{k}(-1)^{\ell}\binom{k}{\ell} \sum_{q=0}^{n-k}(-1)^{q}\binom{n-k}{q}\langle-\ell\rangle_{q}\langle\ell-k\rangle_{n-k-q}
$$

$$
\begin{equation*}
=\frac{(-1)^{n}}{2^{k}}\binom{n}{k} \sum_{\ell=0}^{k}(-1)^{\ell}\binom{k}{\ell} \sum_{q=0}^{n-k}(-1)^{q}\binom{n-k}{q}(\ell)_{q}(k-\ell)_{n-k-q} \tag{5}
\end{equation*}
$$

By similar argument as above, it follows that

$$
\sum_{n=k}^{\infty} \lambda(n, k) \frac{t^{n}}{n!}=\frac{1}{k!}\left[\sum_{m=1}^{\infty} m!\frac{1-(-1)^{m}}{2} \frac{t^{m}}{m!}\right]^{k}=\frac{(-1)^{k}}{k!2^{k}}\left(\frac{1}{t-1}+\frac{1}{t+1}\right)^{k}
$$

which is equivalent to

$$
\begin{equation*}
\sum_{n=0}^{\infty} \lambda(n+k, k) \frac{1}{\binom{n+k}{n}} \frac{t^{n}}{n!}=\frac{(-1)^{k}}{2^{k}} \frac{1}{t^{k}}\left(\frac{1}{t-1}+\frac{1}{t+1}\right)^{k}=\left(\frac{1}{1-t^{2}}\right)^{k} \tag{6}
\end{equation*}
$$

Since $\frac{1}{1-t^{2}}$ is even, we deduce immediately that $\lambda(2 r-1,2 s)=0$ and $\lambda(2 r, 2 s-1)=$ 0 . By the L'Hôspital rule and the identity (1) in Theorem 1 it follows that

$$
\begin{aligned}
& \lambda(n+k, k)=\binom{n+k}{n} \frac{(-1)^{k}}{2^{k}} \lim _{t \rightarrow 0} \frac{\mathrm{~d}^{n}}{\mathrm{~d} t^{n}}\left[\frac{1}{t^{k}}\left(\frac{1}{t-1}+\frac{1}{t+1}\right)^{k}\right] \\
& =\binom{n+k}{n} \frac{(-1)^{k}}{2^{k}} \lim _{t \rightarrow 0} \sum_{q=0}^{n}\binom{n}{q} \frac{\langle-k\rangle_{q}}{t^{k+q}}\left[\left(\frac{1}{t-1}+\frac{1}{t+1}\right)^{k}\right]^{(n-q)} \\
& =\binom{n+k}{n} \frac{(-1)^{k}}{2^{k}} \sum_{q=0}^{n}\binom{n}{q} \frac{\langle-k\rangle_{q}}{(k+q)!} \lim _{t \rightarrow 0}\left[\left(\frac{1}{t-1}+\frac{1}{t+1}\right)^{k}\right]^{(n+k)} \\
& =\binom{n+k}{n} \frac{(-1)^{k}}{2^{k}} \sum_{q=0}^{n}\binom{n}{q} \frac{(-1)^{q}(k+q-1)!}{(k-1)!(k+q)!} \\
& \times \lim _{t \rightarrow 0}\left[\sum_{\ell=0}^{k}\binom{k}{\ell}\left(\frac{1}{t-1}\right)^{\ell}\left(\frac{1}{t+1}\right)^{k-\ell}\right]^{(n+k)} \\
& =\binom{n+k}{n} \frac{(-1)^{k}}{2^{k}(k-1)!} \sum_{q=0}^{n} \frac{(-1)^{q}}{k+q}\binom{n}{q} \sum_{\ell=0}^{k}\binom{k}{\ell} \\
& \times \lim _{t \rightarrow 0} \sum_{m=0}^{n+k}\binom{n+k}{m}\left[\left(\frac{1}{t-1}\right)^{\ell}\right]^{(m)}\left[\left(\frac{1}{t+1}\right)^{k-\ell}\right]^{(n+k-m)} \\
& =\frac{(-1)^{k}}{2^{k} k!} \sum_{\ell=0}^{k}\binom{k}{\ell} \lim _{t \rightarrow 0} \sum_{m=0}^{n+k}\binom{n+k}{m} \\
& \times\langle-\ell\rangle_{m}\left(\frac{1}{t-1}\right)^{\ell+m}\langle\ell-k\rangle_{n+k-m}\left(\frac{1}{t+1}\right)^{(k-\ell)+(n+k-m)} \\
& =\frac{(-1)^{k}}{2^{k} k!} \sum_{\ell=0}^{k}(-1)^{\ell}\binom{k}{\ell} \sum_{m=0}^{n+k}(-1)^{m}\binom{n+k}{m}\langle-\ell\rangle_{m}\langle\ell-k\rangle_{n+k-m} .
\end{aligned}
$$

In short, we obtain

$$
\begin{align*}
\lambda(n, k)=\frac{(-1)^{k}}{2^{k} k!} & \sum_{\ell=0}^{k}(-1)^{\ell}\binom{k}{\ell} \sum_{m=0}^{n}(-1)^{m}\binom{n}{m}\langle-\ell\rangle_{m}\langle\ell-k\rangle_{n-m} \\
& =\frac{(-1)^{n+k}}{2^{k} k!} \sum_{\ell=0}^{k}(-1)^{\ell}\binom{k}{\ell} \sum_{m=0}^{n}(-1)^{m}\binom{n}{m}(\ell)_{m}(k-\ell)_{n-m} \tag{7}
\end{align*}
$$

Comparing between (5) and (7) reveals

$$
\lambda(n, k)=\frac{(-1)^{n+k}}{2^{k} k!} \frac{2^{k}}{(-1)^{n+k}} \frac{1}{\binom{n+k}{k}} \mu(n+k, k)
$$

which can be rearranged as (2).
The Faà di Bruno formula, see [1, Theorem 11.4] and [2, p. 139, Theorem C], can be described in terms of $\mathrm{B}_{n, k}\left(x_{1}, x_{2}, \ldots, x_{n-k+1}\right)$ by

$$
\begin{equation*}
\frac{\mathrm{d}^{n}}{\mathrm{~d} x^{n}} f \circ h(x)=\sum_{k=0}^{n} f^{(k)}(h(x)) \mathrm{B}_{n, k}\left(h^{\prime}(x), h^{\prime \prime}(x), \ldots, h^{(n-k+1)}(x)\right) . \tag{8}
\end{equation*}
$$

In [1, p. 412] and [2, p. 135], one can find the identity

$$
\begin{equation*}
\mathrm{B}_{n, k}\left(a b x_{1}, a b^{2} x_{2}, \ldots, a b^{n-k+1} x_{n-k+1}\right)=a^{k} b^{n} \mathrm{~B}_{n, k}\left(x_{1}, x_{2}, \ldots, x_{n-k+1}\right) \tag{9}
\end{equation*}
$$

for $n \geq k \geq 0$ and $a, b \in \mathbb{C}$. In [9, Theorem 4.1] and [18, Section 3], it was set up little by little that

$$
\begin{equation*}
\mathrm{B}_{n, k}(x, 1,0, \ldots, 0)=\frac{1}{2^{n-k}} \frac{n!}{k!}\binom{k}{n-k} x^{2 k-n} \tag{10}
\end{equation*}
$$

where $\binom{0}{0}=1$ and $\binom{p}{q}=0$ for $q>p \geq 0$. For detailed information on applications of the formula 10 , please refer to the papers [4, 5, 6, 7, 8, 9, 10, 11, 12, 13, 14, 15, $17,18,19,20,21$ and closely related references therein. Then it follows from (6), (8), (9), and (10) that, when denoting $u=u(t)=1-t^{2}$,

$$
\begin{aligned}
& \lambda(n+k, k)=\binom{n+k}{n} \lim _{t \rightarrow 0} \frac{\mathrm{~d}^{n}}{\mathrm{~d} t^{n}}\left(\frac{1}{1-t^{2}}\right)^{k} \\
& =\binom{n+k}{n} \lim _{t \rightarrow 0} \sum_{\ell=0}^{n}\left(\frac{1}{u^{k}}\right)^{(\ell)} \mathrm{B}_{n, \ell}(-2 t,-2,0, \ldots, 0) \\
& =\binom{n+k}{n} \lim _{t \rightarrow 0} \sum_{\ell=0}^{n}\langle-k\rangle_{\ell} \frac{1}{u^{k+\ell}}(-2)^{\ell} \mathrm{B}_{n, \ell}(t, 1,0, \ldots, 0) \\
& =\binom{n+k}{n} \lim _{t \rightarrow 0} \sum_{\ell=0}^{n}\langle-k\rangle_{\ell} \frac{1}{\left(1-t^{2}\right)^{k+\ell}}(-2)^{\ell} \frac{1}{2^{n-\ell}} \frac{n!}{\ell!}\binom{\ell}{n-\ell} t^{2 \ell-n} \\
& =\binom{n+k}{n} \lim _{t \rightarrow 0} \sum_{\ell=0}^{n}(k)_{\ell} \frac{n!}{\ell!}\binom{\ell}{n-\ell} \frac{(2 t)^{2 \ell-n}}{\left(1-t^{2}\right)^{k+\ell}} \\
& = \begin{cases}0, & n=2 m-1 \\
\binom{2 m+k}{2 m}(k)_{m} \frac{(2 m)!}{m!}\binom{m}{2 m-m}, & n=2 m\end{cases} \\
& = \begin{cases}0, & n=2 m-1 \\
\frac{(2 m+k)!}{k!}\binom{m+k-1}{k-1}, & n=2 m\end{cases} \\
& = \begin{cases}0, & n=2 m-1 \\
\frac{(n+k)!}{k!}\binom{\frac{n+2 k}{2}-1}{k-1}, & n=2 m\end{cases}
\end{aligned}
$$

for $m \in \mathbb{N}$. The first formula in (3) is thus proved.
Substituting the first formula in (3) into (2) and simplifying lead readily to the formula in (3). The proof of Theorem 2 is complete.

## 3. Remarks

In this section, we state several remarks on something related.
Remark 1. In 9, Theorem 2.1], it was proved that

$$
\mathrm{B}_{n, k}\left(1,0,1, \ldots, \frac{1-(-1)^{n-k+1}}{2}\right)=\frac{1}{2^{k} k!} \sum_{\ell=0}^{k}(-1)^{\ell}\binom{k}{\ell}(k-2 \ell)^{n}
$$

and

$$
\mathrm{B}_{n, k}\left(0,1,0, \ldots, \frac{1+(-1)^{n-k+1}}{2}\right)=\frac{1}{2^{k} k!} \sum_{\ell=0}^{2 k}(-1)^{\ell}\binom{2 k}{\ell}(k-\ell)^{n}
$$

for $n \geq k \geq 0$, where $0^{0}$ is regarded as 1 . In [9, Section 3], basing on numerical calculation, the authors guessed that

$$
\begin{align*}
\mathrm{B}_{2 \ell-1, k}\left(0,1,0, \ldots, \frac{1+(-1)^{(2 \ell-1)-k+1}}{2}\right) & =0,  \tag{11}\\
\mathrm{~B}_{2 \ell, k}\left(0,1,0, \ldots, \frac{1-(-1)^{2 \ell-k+1}}{2}\right) & =0,  \tag{12}\\
& 2 \ell>k>\ell  \tag{13}\\
\mathrm{B}_{2 \ell, k}\left(0,1,0, \ldots, \frac{1-(-1)^{2 \ell-k+1}}{2}\right) \neq 0, & \ell \geq k \geq 1  \tag{14}\\
\mathrm{~B}_{k+2 \ell, k}(1,0,1, \ldots, 1,0,1) \neq 0, & k, \ell \in \mathbb{N}
\end{align*}
$$

and

$$
\begin{equation*}
\mathrm{B}_{k+2 \ell-1, k}(1,0,1, \ldots, 0,1,0)=0, \quad k, \ell \in \mathbb{N} \tag{15}
\end{equation*}
$$

In [9, Theorem 3.1], the identity (15) was proved to be true. In fact, the identities (11) and (15) can be deduced readily from the proof of [9, Theorem 2.1] as follows. From the formula (4), it followed that

$$
\begin{equation*}
\sum_{n=k}^{\infty} \mathrm{B}_{n, k}\left(0,1,0, \ldots, \frac{1+(-1)^{n-k+1}}{2}\right) \frac{t^{n}}{n!}=\frac{(\cosh t-1)^{k}}{k!} \tag{16}
\end{equation*}
$$

and

$$
\begin{equation*}
\sum_{n=k}^{\infty} \mathrm{B}_{n, k}\left(1,0,1, \ldots, \frac{1-(-1)^{n-k+1}}{2}\right) \frac{t^{n}}{n!}=\frac{\sinh ^{k} t}{k!} \tag{17}
\end{equation*}
$$

In (16), the function cosh $t-1$ is even, so the identity (11) is clearly valid. Since the function $\sinh t$ in 17 is odd, then

$$
\mathrm{B}_{2 n, 2 k-1}(1,0,1, \ldots, 1,0)=0 \quad \text { and } \quad \mathrm{B}_{2 n-1,2 k}(1,0,1, \ldots, 1,0)=0
$$

which are equivalent to the identity (15). However, the validity of the identities (12), (13), and (14) has not been verified yet.

Remark 2. The formula (7) can be rewritten as

$$
\begin{equation*}
\lambda(n, k)=\frac{(-1)^{n+k} n!}{2^{k} k!} \sum_{\ell=0}^{k} \sum_{m=0}^{n}(-1)^{\ell+m}\binom{k}{\ell}\binom{\ell+m-1}{\ell-1}\binom{(k-\ell)+(n-m)-1}{k-\ell-1} \tag{18}
\end{equation*}
$$

Then combining the formulas $(7)$ and $\sqrt{18}$ ) with the first formula in (3) and rearranging arrive at

$$
\sum_{\ell=0}^{k}(-1)^{\ell}\binom{k}{\ell} \sum_{m=0}^{n}(-1)^{m}\binom{n}{m}(\ell)_{m}(k-\ell)_{n-m}=\left[1+(-1)^{n+k}\right] 2^{k-1} n!\binom{\frac{n+k}{2}-1}{k-1}
$$

and

$$
\begin{aligned}
\sum_{m=0}^{n} \sum_{\ell=0}^{k}(-1)^{\ell+m}\binom{k}{\ell}\binom{\ell+m-1}{\ell-1}\left(\begin{array}{c}
(k-\ell)+ \\
k- \\
k-1
\end{array}\right) \\
=\left[1+(-1)^{n+k}\right] 2^{k-1}\binom{\frac{n+k}{2}-1}{k-1}
\end{aligned}
$$

Comparing these identities with the Vandermonde convolution formula

$$
\sum_{k=0}^{n}\binom{n}{k}\langle x\rangle_{k}\langle y\rangle_{n-k}=\langle x+y\rangle_{n}
$$

in [1, Theorem 3.1] and [2, p. 44] motivates us to ask a question: is the quantity

$$
\sum_{k=0}^{n}(-1)^{k}\binom{n}{k}\langle x\rangle_{k}\langle y\rangle_{n-k}
$$

summable?

## 4. Acknowledgements

The second author was supported by the National Research Foundation of Korea (NRF) grant funded by the Korea government (MSIP) (2016R1A5A1008055).

## References

[1] C. A. Charalambides, Enumerative Combinatorics, CRC Press Series on Discrete Mathematics and its Applications. Chapman \& Hall/CRC, Boca Raton, FL, 2002.
[2] L. Comtet, Advanced Combinatorics: The Art of Finite and Infinite Expansions, Revised and Enlarged Edition, D. Reidel Publishing Co., Dordrecht and Boston, 1974.
[3] F. W. J. Olver, D. W. Lozier, R. F. Boisvert, and C. W. Clark (eds.), NIST Handbook of Mathematical Functions, Cambridge University Press, New York, 2010; Available online at http://dlmf.nist.gov/
[4] F. Qi, A simple form for coefficients in a family of ordinary differential equations related to the generating function of the Legendre polynomials, ResearchGate Preprint (2017), available online at https://doi.org/10.13140/RG.2.2.27365.09446
[5] F. Qi, Integral representations for multivariate logarithmic polynomials, J. Comput. Appl. Math. 336 (2018), 54-62; Available online at https://doi.org/10.1016/j.cam.2017.11.047
[6] F. Qi and V. Čerňanová, Some discussions on a kind of improper integrals, Int. J. Anal. Appl. 11 (2016), no. 2, 101-109.
[7] F. Qi, V. Čerňanová, X.-T. Shi, and B.-N. Guo, Some properties of central Delannoy numbers, J. Comput. Appl. Math. 328 (2018), 101-115; Available online at https://doi.org/10.1016/ j.cam.2017.07.013
[8] F. Qi and B.-N. Guo, Explicit and recursive formulas, integral representations, and properties of the large Schröder numbers, Kragujevac J. Math. 41 (2017), no. 1, 121-141.
[9] F. Qi and B.-N. Guo, Explicit formulas for special values of the Bell polynomials of the second kind and for the Euler numbers and polynomials, Mediterr. J. Math. 14 (2017), no. 3, Article 140, 14 pages; Available online at https://doi.org/10.1007/s00009-017-0939-1
[10] F. Qi and B.-N. Guo, Several explicit and recursive formulas for the generalized Motzkin numbers, Preprints 2017, 2017030200, 11 pages; Available online at https://doi.org/10. 20944/preprints201703.0200.v1
[11] F. Qi and B.-N. Guo, Some properties of the Hermite polynomials and their squares and generating functions, Preprints 2016, 2016110145, 14 pages; Available online at https:// doi.org/10.20944/preprints201611.0145.v1
[12] F. Qi and B.-N. Guo, Viewing some ordinary differential equations from the angle of derivative polynomials, Preprints 2016, 2016100043, 12 pages; Available online at https: //doi.org/10.20944/preprints201610.0043.v1
[13] F. Qi, D.-W. Niu, and D. Lim, Notes on the Rodrigues formulas for two kinds of the Chebyshev polynomials, HAL archives (2018), available online at https://hal.archives-ouvertes. fr/hal-01705040
[14] F. Qi, D.-W. Niu, D. Lim, and B.-N. Guo, Explicit formulas and identities on Bell polynomials and falling factorials, ResearchGate Preprint (2018), available online at https: //doi.org/10.13140/RG.2.2.34679.52640
[15] F. Qi, X.-T. Shi, and B.-N. Guo, Two explicit formulas of the Schröder numbers, Integers 16 (2016), Paper No. A23, 15 pages.
[16] F. Qi, X.-T. Shi, and F.-F. Liu, Several identities involving the falling and rising factorials and the Cauchy, Lah, and Stirling numbers, Acta Univ. Sapientiae Math. 8 (2016), no. 2, 282-297; Available online at https://doi.org/10.1515/ausm-2016-0019
[17] F. Qi, X.-T. Shi, F.-F. Liu, and D. V. Kruchinin, Several formulas for special values of the Bell polynomials of the second kind and applications, J. Appl. Anal. Comput. 7 (2017), no. 3, 857-871; Available online at https://doi.org/10.11948/2017054
[18] F. Qi and M.-M. Zheng, Explicit expressions for a family of the Bell polynomials and applications, Appl. Math. Comput. 258 (2015), 597-607; Available online at https://doi.org/ 10.1016/j.amc.2015.02.027
[19] F. Qi, Q. Zou, and B.-N. Guo, Some identities and a matrix inverse related to the Chebyshev polynomials of the second kind and the Catalan numbers, Preprints 2017, 2017030209, 25 pages; Available online at https://doi.org/10.20944/preprints201703.0209.v2
[20] C.-F. Wei and F. Qi, Several closed expressions for the Euler numbers, J. Inequal. Appl. 2015, 2015:219, 8 pages; Available online at https://doi.org/10.1186/s13660-015-0738-9
[21] J.-L. Zhao and F. Qi, Two explicit formulas for the generalized Motzkin numbers, J. Inequal. Appl. 2017, 2017:44, 8 pages; Available online at https://doi.org/10.1186/ s13660-017-1313-3
(Qi) Institute of Mathematics, Henan Polytechnic University, Jiaozuo, Henan, 454010, China; College of Mathematics, Inner Mongolia University for Nationalities, Tongliao, Inner Mongolia, 028043, China; Institute of Fundamental and Frontier Sciences, University of Electronic Science and Technology of China, Chengdu, Sichuan, 610054, China; Department of Mathematics, College of Science, Tianjin Polytechnic University, Tianjin, 300387, China

Email address: qifeng618@gmail.com, qifeng618@hotmail.com, qifeng618@qq.com
URL: https://qifeng618.wordpress.com, http://orcid.org/0000-0001-6239-2968
(Lim) Department of Mathematics, Sungkyunkwan University, Suwon, 16419, South Korea

Email address: dgrim84@gmail.com, dgrim84@skku.edu
URL: https://orcid.org/0000-0002-0928-8480
(Yao) Institute of Fundamental and Frontier Sciences, University of Electronic Science and Technology of China, Chengdu, Sichuan, 610054, China; Department of Mathematics, Tianjin Polytechnic University, Tianjin, 300387, China

Email address: yaoyonghong@aliyun.com, yaoyonghong@uestc.edu.cn

